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/ If you have a 60g of Mg, what mass of
Chemical amounts are One mole of H,0 = 18g (1 + 1 + 16) HCl do you need to convert it to MgCl,?

Mass of one mole of a substance in grams

measured in moles .
= relative formula mass

(mol) One mole of Mg = 24g A, : Mg =24 so mass of 1 mole of Mg =
¢ 24g
Ma + 2HCl = MacCl + H M, : HCI (1 + 35.5) so mass of 1 mole of
+ +
6.02 x 10?3 per mole g 9%z * 1, HCl = 36.5g

One mole of any substance will
contain the same number of particles,
atoms, molecules or ions.

One mole of magnesium reacts
with two moles of hydrochloric
acid to make one mole of
magnesium chloride and one
mole of hydrogen

So 60g of Mg is 60/24 = 2.5 moles

constant

One mole of H,0 will contain 6.02 x 10?3 molecules
One mole of NaCl will contain 6.02 x 10?3 Na* ions

v

How many moles of sulfuric acid molecules are there in
4.7g of sulfuric acid (H,SO,)?
Give your answer to 1 significant figure.

Avogadro

Balanced symbol equation tells us that
for every one mole of Mg, you need
two moles of HCl to react with it.

Number of moles = mass (q) or mass (q) So you need 2.5x2 = 5 moles of HCI

Chemical equations show the number of moles
reacting and the number of moles made

4.7 = 0.05 mol You will need 5 x 36.5g of HCI= 182.5g
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One mole of H,0 =18g (1 + 1 + 16)
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